

PAPER DETAILS

TITLE: On L^1 Convergence Of A Walsh-sum

AUTHORS: Babu RAM

PAGES: 0-0

ORIGINAL PDF URL: <https://dergipark.org.tr/tr/download/article-file/1629235>

COMMUNICATIONS

DE LA FACULTÉ DES SCIENCES
DE L'UNIVERSITÉ D'ANKARA

Série A₁: Mathématique

TOME 24

ANNÉE 1975

On L^1 Convergence Of A Walsh-sum

by

Babu RAM

2

**Faculté des Sciences de l'Université d'Ankara
Ankara, Turquie**

Communications de la Faculté des Sciences de l'Université d'Ankara

Comité de Rédaction de la Série A₁

B. Yurtsever A. Abdik M. Oruç

Secrétaire de publication

Z. Tüfekçioğlu

La Revue "Communications de la Faculté des Sciences de l'Université d'Ankara" est un organe de publication englobant toutes les disciplines scientifiques représentées à la Faculté.

La Revue, Jusqu'à 1975 à l'exception des tomes I, II, III, était composée de trois séries:

Série A: Mathématique, Physique et Astronomie.

Série B: Chimie.

Série C: Sciences naturelles.

A partir de 1975 la Revue comprend sept séries:

Série A₁: Mathématique

Série A₂: Physique

Série A₃: Astronomie

Série B : Chimie

Série C₁: Géologie

Série C₂: Botanique

Série C₃: Zoologie

En principe, la Revue est réservée aux mémoires originaux des membres de la Faculté. Elle accepte cependant, dans la mesure de la place disponible, les communications des auteurs étrangers. Les langues allemande, anglaise et française sont admises indifféremment. Les articles devront être accompagnés d'un bref sommaire en langue turque.

Adres: Fen Fakültesi Tebliğler Dergisi Fen Fakültesi, Ankara, Turquie.

On L^1 Convergence Of A Walsh-sum

by

Babu RAM

SUMMARY

It is shown that limit of the Walsh sum $gn(x) = \sum_{k=0}^n \lambda_k^n \Psi_k(x)$, $0 < x < 1$, exists and is integrable if and only if $\lim_{n \rightarrow \infty} \lambda_0^n < \infty$. Then g_n converges in L^1 norm to g and for $0 < p < 1$, $\lim_{n \rightarrow \infty} \int_0^1 |g(x) - g_n(x)|^p dx = 0$.

1. The Rademacher functions are defined by

$$\varnothing_0(x) = 1 \quad (0 \leq x < 1/2), \quad \varnothing_0(x) = -1 \quad (1/2 \leq x < 1) \\ \varnothing_0(x+1) = \varnothing_0(x), \quad \varnothing_n(x) = \varnothing_0(2^n x) \quad (n = 1, 2, \dots).$$

Then the Walsh-functions are defined by

$$\Psi_0(x) = 1, \quad \Psi_n(x) = \varnothing_{n_1}(x) \varnothing_{n_2}(x) \varnothing_{n_3}(x) \dots \varnothing_{n_r}(x), \\ \text{for } n = 2^{n_1} + 2^{n_2} + \dots + 2^{n_r}, \text{ where the integers } n_i \text{ are} \\ \text{uniquely determined by } n_{i+1} < n_i.$$

Let $\{\lambda_k^n\}$, $0 \leq k \leq n$ be a double sequence of real numbers satisfying the following conditions:

$$(1.1) \quad \lim_{n \rightarrow \infty} \lambda_n^n = 0$$

$$(1.2) \quad \lim_{m \rightarrow \infty} (\lambda_k^m - \lambda_{n+1}^m) = \lambda_k^n \quad \text{if } k \leq n$$

$$(1.3) \quad \lim_{n \rightarrow \infty} (\lambda_0^n - n \lambda_{n-1}^{n-1}) < \infty \text{ if and only if } \lim_{n \rightarrow \infty} \lambda_0^n < \infty$$

$$(1.4) \quad \lim_{n \rightarrow \infty} (\Delta_k \lambda_k^n)_{k=n-1} = 0 \text{ where } \Delta_k \lambda_k^n = \lambda_k^n - \lambda_{k+1}^n$$

(1.5) $\Delta_k^2 \lambda_k^{n+1} \geq \Delta_k^2 \lambda_k^n \geq 0$ if $k \leq n-2$, where

$$\Delta_k^2 \lambda_k^n = \Delta_k \lambda_k^n - \Delta_{k+1} \lambda_{k+1}^n$$

(1.6) $\Delta_k \lambda_k^n \geq 0$.

In the present paper, we prove the following theorems for Walsh sum $\sum_{k=0}^n \lambda_k^n \Psi_k(x)$.

Theorem 1. *The limit of the Walsh sum $\sum_{k=0}^n \lambda_k^n \Psi_k(x)$, $0 < x < 1$, exists and is integrable of and only if $\lim_{n \rightarrow \infty} \lambda_0^n < \infty$.*

Theorem 2. *If the limit g of $g_n(x) = \sum_{k=0}^n \lambda_k^n \Psi_k(x)$ is integrable, then g_n converges in L^1 norm to g .*

Theorem 3. *If the limit g of $g_n(x) = \sum_{k=0}^n \lambda_k^n \Psi_k(x)$ is integrable, then for $0 < p < 1$ we have*

$$\lim_{n \rightarrow \infty} \int_0^1 |g(x) - g_n(x)|^p dx = 0.$$

It may be remarked that Theorem 1 and 2 are analogous to the results of Garrett ([3], Theorems 1 and 2) for the generalised Rees-Stanojevic cosine sum in the form $\frac{1}{2} \lambda_0^n + \sum_{k=1}^n \lambda_k^n \cos kx$ while Theorem 3 to a known result for trigonometric series ([1], p. 215).

2. We require the following Lemmas for the proof of our theorems:

Lemma 1 [2]. (i) If $D_n(x) = \sum_{k=0}^{n-1} \Psi_k(x)$, then $|D_n(x)| < 2/x$ for $0 < x < 1$.

(ii) If $K_n(x) = \frac{1}{n+1} \sum_{k=0}^n D_k(x)$, then $|K_n(x)| < 2/x$ for all n .

Lemma 2 [4]. If $K_n(x) = \frac{1}{n+1} \sum_{k=0}^n D_k(x)$, then

$$\int_0^1 |K_n(x)| dx \leq 2, \text{ for all } n.$$

3. *Proof of Theorem 1.* Let

$$g_n(x) = \sum_{k=0}^n \lambda_k^n \Psi_k(x)$$

Applying Abel's transformation twice we have

$$\begin{aligned} (3.1) \quad g_n(x) &= \sum_{k=0}^{n-1} \Delta_k \lambda_k^n D_{k+1}(x) + \lambda_n^n D_{n+1}(x) \\ &= \sum_{k=0}^{n-2} (k+1) \Delta_k^2 \lambda_k^n K_k(x) + n [\Delta_k \lambda_k^n]_{k=n-1} K_{n-1}(x) \\ &\quad + \lambda_n^n D_{n+1}(x). \end{aligned}$$

Since $|D_n(x)| < 2/x$, $|K_n(x)| \leq 2/x$ ($0 < x < 1$), $\lim_{n \rightarrow \infty} \lambda_n^n = 0$ and $\lim_{n \rightarrow \infty} [\Delta_k \lambda_k^n]_{k=n-1} = 0$; the last two terms in (3.1) tend to zero in the limit. Finally,

$$\begin{aligned} \lim_{n \rightarrow \infty} \sum_{k=0}^{n-2} (k+1) \Delta_k^2 \lambda_k^n K_k(x) &\leq \lim_{n \rightarrow \infty} \frac{2}{x} \sum_{k=0}^{n-2} (k+1) \Delta_k^2 \lambda_k^n \\ &= \lim_{n \rightarrow \infty} \frac{2}{x} \left[\sum_{k=0}^{n-2} \Delta_k \lambda_k^n - (n-1) \Delta_{n-1} \lambda_{n-1}^n \right] \\ &= \lim_{n \rightarrow \infty} \frac{2}{x} \left[\lambda_0^n - \lambda_{n-1}^n - (n-1) (\lambda_{n-1}^n - \lambda_n^n) \right] \\ &= \lim_{n \rightarrow \infty} \frac{2}{x} \left[\lambda_0^n - n (\lambda_{n-1}^n - \lambda_n^n) - \lambda_n^n \right] \\ &= \lim_{n \rightarrow \infty} \frac{2}{x} \left[\lambda_0^n - n \lim_{m \rightarrow \infty} (\lambda_{n-1}^m - \lambda_{n+1}^m - \lambda_n^m + \lambda_{n+1}^m) - \lambda_n^n \right] \\ &= \lim_{n \rightarrow \infty} \frac{2}{x} \left[\lambda_0^n - n \lambda_{n-1}^{n-1} - \lambda_n^n \right] \end{aligned}$$

$$= \lim_{n \rightarrow \infty} \frac{2}{x} (\lambda^n_0 - n \lambda^n_{n-1}) < \infty \text{ if and only if } \lim_{n \rightarrow \infty} \lambda^n_0 < \infty.$$

It follows therefore, that $\lim_{n \rightarrow \infty} g_n(x)$ exists if and only if $\lim_{n \rightarrow \infty} \lambda^n_0 < \infty$.

Now let $g(x) = \lim_{n \rightarrow \infty} g_n(x)$. Then $g(x) = \lim_{n \rightarrow \infty}$

$$\sum_{k=0}^{n-2} (k+1) \Delta^2_k \lambda^n_k K_k(x).$$

Since $\sum_{k=0}^{n-2} (k+1) \Delta^2_k \lambda^n_k K_k(x)$ is nondecreasing, using

Lemma 2, we have

$$\begin{aligned} \int_0^1 |g(x)| dx &= \lim_{n \rightarrow \infty} \int_0^1 \sum_{k=0}^{n-2} (k+1) \Delta^2_k \lambda^n_k K_k(x) dx \\ &\leq 2 \lim_{n \rightarrow \infty} \sum_{k=0}^{n-2} (k+1) \Delta^2_k \lambda^n_k \\ &= 2 \lim_{n \rightarrow \infty} [\lambda^n_0 - n \lambda^n_{n-1} - \lambda^n_n] \\ &< \infty \text{ if and only if } \lim_{n \rightarrow \infty} \lambda^n_0 < \infty \end{aligned}$$

Proof of Theorem 2. Since g_n is integrable, therefore by Theorem 1, we have $\lim_{n \rightarrow \infty} \lambda^n_0 < \infty$. Then it follows from $\lambda^n_{k-1} = \lim_{n \rightarrow \infty} [\lambda^n_0 - \lambda^n_k]$ that $\lim_{n \rightarrow \infty} \lambda^n_k < \infty$ for all $k \geq 0$. We denote $\lim_{n \rightarrow \infty} \lambda^n_k$ by λ_k^∞ . Then

$$\begin{aligned} g_n(x) &= \sum_{k=0}^n \lambda^n_k \Psi_k(x) \\ &= \sum_{k=0}^n (\lambda_k^\infty - \lambda_{n+1}^\infty) \Psi_k(x) \\ &= \sum_{k=0}^n \lambda_k^\infty \Psi_k(x) - \lambda_{n+1}^\infty D_{n+1}(x). \end{aligned}$$

Applying summation by parts we have

$$\begin{aligned} g_n(x) &= \sum_{k=0}^{n-1} \Delta_k \lambda_k^\infty D_{k+1}(x) + \lambda_n^\infty D_{n+1}(x) - \lambda_{n+1}^\infty D_{n+1}(x) \\ &= \sum_{k=0}^n \Delta_k \lambda_k^\infty D_{k+1}(x) \\ &= \sum_{k=0}^{n-1} (k+1) \Delta_k \lambda_k^\infty K_k(x) + (n+1) [\Delta_k \lambda_k^\infty]_{k=n} K_n(x). \end{aligned}$$

$$\text{Since } \lim_{n \rightarrow \infty} (\Delta_k \lambda_k^\infty)_{k=n} = \lim_{n \rightarrow \infty} (\lambda_n^\infty - \lambda_{n+1}^\infty) = \lim_{n \rightarrow \infty} \lambda_n^\infty = 0,$$

we have

$$g(x) = \lim_{n \rightarrow \infty} g_n(x) = \sum_{k=0}^{\infty} (k+1) \Delta_k \lambda_k^\infty K_k(x).$$

Then

$$\begin{aligned} &\lim_{n \rightarrow \infty} \int_0^1 |g(x) - g_n(x)| dx \\ &= \lim_{n \rightarrow \infty} \int_0^1 \left| \sum_{k=n}^{\infty} (k+1) \Delta_k \lambda_k^\infty K_k(x) - (n+1) (\Delta_k \lambda_k^\infty)_{k=n} K_n(x) \right| dx \\ &= \lim_{n \rightarrow \infty} \left[\sum_{k=n}^{\infty} (k+1) \Delta_k \lambda_k^\infty \int_0^1 K_k(x) dx + (n+1) (\Delta_k \lambda_k^\infty)_{k=n} \int_0^1 K_n(x) dx \right] \\ &\leq 2 \lim_{n \rightarrow \infty} \left[\sum_{k=n}^{\infty} (k+1) \Delta_k \lambda_k^\infty + (n+1) (\Delta_k \lambda_k^\infty)_{k=n} \right] \\ &= 2 \lim_{n \rightarrow \infty} \left[\sum_{k=n}^{\infty} \Delta_k \lambda_k^\infty + n (\Delta_k \lambda_k^\infty)_{k=n} + (n+1) (\Delta_k \lambda_k^\infty)_{k=n} \right] \\ &= 2 \lim_{n \rightarrow \infty} \left[\sum_{k=n}^{\infty} \Delta_k \lambda_k^\infty + (2n+1) (\Delta_k \lambda_k^\infty)_{k=n} \right] = 0, \end{aligned}$$

$$\text{since } \sum_{k=1}^{\infty} \Delta_k \lambda_k^\infty = \lambda_1^\infty < \infty \text{ and } \Delta_k \lambda_k^\infty = \lim_{m \rightarrow \infty} \Delta_k \lambda_k^m \geq 0.$$

Proof of Theorem 3. As in the proof of Theorem 2, we have by using Lemma 1

$$\begin{aligned}
 & \lim_{n \rightarrow \infty} \int_0^1 |g(x) - g_n(x)|^p dx \\
 &= \lim_{n \rightarrow \infty} \int_0^1 \left| \sum_{k=n}^{\infty} (k+1) \Delta_k^\infty K(x) - (n+1) (\Delta_k^\infty)_{k=n} K_n(x) \right|^p dx \\
 &\leq \lim_{n \rightarrow \infty} 2^p \left[\sum_{k=n}^{\infty} |k+1| \Delta_k^\infty + (n+1) (\Delta_k^\infty)_{k=n} \right] \int_0^1 x^{-p} dx \\
 &= 2^p \lim_{n \rightarrow \infty} \left[\sum_{k=n}^{\infty} \Delta_k^\infty + (2n+1) (\Delta_k^\infty)_{k=n} \right] \int_0^1 x^{-p} dx = 0.
 \end{aligned}$$

REFERENCES

- [1] N. K. Bary, *A Treatise on Trigonometric series*, Vol II, Pergamon Press, 1964
- [2] N. J. Fine, *On the Walsh-functions*, Trans. Amer Math. Soc. 65(1949), 372-414.
- [3] J. Garret, *On L^1 convergence of Rees-Stanojevic cosine sums, to appear.*
- [4] S. Yano, *On Walsh Fourier series*, Tohoku Math. Journal 3(1951), 223-240.

Department of Mathematics,
Kurukshetra University,
Kurukshetra, India.

Ö Z E T

Gösteriliyor ki $g_n(x) = \sum_{k=0}^n \lambda_k^\infty \Psi_k(x)$, $0 < x < 1$, Walsh toplamı, mevcuttur ve integrallenebilir yalnız ve yalnız $\lim_{n \rightarrow \infty} \lambda_0^n < \infty$. Bu takdirde g_n , L^1 normunda g ye yakımsaktır ve $0 < p < 1$ ise $\lim_{n \rightarrow \infty} \int_0^1 |g(x) - g_n(x)|^p dx = 0$.

Prix de l'abonnement annuel

Turquie : 15 TL; Étranger: 30 TL.

Prix de ce numéro : 5 TL (pour la vente en Turquie).

Prière de s'adresser pour l'abonnement à : Fen Fakültesi

Dekanlığı Ankara, Turquie.